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FIELD OF VIEW PRACTICE

1L The field of view diameter under 100x is 1640um. Whet is the size of fhe
dimmeter of the field of view at 400x?

(eox) (1M0) = C) (d)
o L[oox HOo X
d = H\0 um

2. Tihee ditreetiar off e ffiibt] off wisaw crt 110 is 2R um. Whert iis fihe
i comeetiar ooff thee ffiid bl oof f wisaw cort REN&P
(lo«) (27007 = (300¢) (d)
300 - 200K

d= 900 yu

3. Theeffédttoff wiswdiimmws terumtier4000x ssetmm. WhstiistHeessizedssf 1Hae
chlamtvet berof f e fleddtod f emwant 46?2
(100x) (G40) = (1ox)(4)

s, 4o

d: (0400/4"'

44. TheeffedddodfvicandiiaraeterunadersBox 4s 358mm WWaati st Haessizeos ftHae
dinareeberodftheef febddodfvicamaat5HONR?

G = (oo ()

SOOX T 500x

D= .0%9




